H & 0l & AHS B Ml A

SN HENRD
¥ ARXOPIE S SEt NG M 28zH =L 22 /M=)
Cel: d=27208 KX - HE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
H=X2 ot 22,457,670 14,015,581 8,442,089
= 250,000
Jl 1,574,706
= 386,197
Al 20,246,767
ARXXOINES S& XATH 24eH (2L 2E/MK) 1,636,9% 860,025 776,970
= 250,000
= 315,000
Al 1,071,995
=202 =X - 3 1,380,775 745,165 635,610
= 250,000
= 275,000
Al 865,775
MUz & 87203 =X - X2 20,775 21,165 2390
202 04dl 8,625 7,665 960
01 2L AL 8,625 7,665 960
O=U - 2 HalmXl £ AZX0AE FA
85,0002 *3E*32+53] 3,825
OWsl Mz Zbl U BHEAL =7
20,0002 x4 +5& %123 4,800
203 HR=H| 12,180 13,500 A1,350
03 A= L2 FAIH| 12,150 13,500 1,350
OAZ=0HIE S HRYLET
12,150,000 * 14 12,150
Tc|0tE BIEEE &2 i3 900,000 0 900,000
= 250,000
= 250,000
Al 400,000
307 el2to| & 900,000 0 900,000
= 250,000
= 250,000
Al 400,000
04 QIZHHAMAIH 2 & 900,000 0 900,000
02023 ZeloteE BIERIE d=2lH2l izl
900,000,000& *12] 900,000
= 250,000
& 250,000
Al 400,000
H=A=6D| d=Wei=2ct0IE Uzl 25,000 25,000 0
= 5,000
Al 20,000
307 @20l & 25,000 25,000 0
s 5,000
Al 20,000




2A:

PN

I-I;_(H: 1L X

ol

SA - ZE - B2(30) - HRAS of v G o HIDE2
04 QIZHHAMAIH 2 & 25,000 25,000 0
OHMI92l =HEEI| d=c=201E U
2l izl 25,000,000& *13] 25,000
= 5,000
Al 20,000
0= ol 20tet=E CHal 75,000 68,000 7,000
307 21201 & 75,000 68,000 7,000
04 QIZHHAMAIH 2 & 75,000 68,000 7,000
ORMI72l O z=oil Z0tcHECHE] JHA
75,000,000 *13] 75,000
LESEH H==2E HILIACHS 100,000 100,000 0
= 10,000
Al 90,000
307 el2to| & 100,000 100,000 0
= 10,000
Al 90,000
04 QIHHAMAIH 2 £ 100,000 100,000 0
ORMI213] @SEH =2 ZHLIAE JH=
100,000,000& 12 100,000
== 10,000
Al 90,000
H=HSE=HM 018 =8 =03l 35,000 33,000 2,000
= 5,000
Al 30,000
307 elztol & 35,000 33,000 2,000
= 5,000
Al 30,000
04 QIHHAIAIH 2 £ 35,000 33,000 2,000
ORM572 H=HEHSHM I8 8= gU=x
CHal JH=l 35,000,000& *13] 35,000
== 5,000
Al 30,000
H=H=4D| 8= gHbi7Uz= 60,000 60,000
307 elztol & 60,000 60,000
04 QIZHHAMAIRH 2 & 60,000 60,000
ORMIs42l H=HEEI| 8= SEHBI2ME K
Zl 60,000,000& *13] 60,000
FAHSEI| = HI=2E U= 35,000 33,000 2,000
=S 5,000
Al 30,000
307 @12t01 & 35,000 33,000 2,000
== 5,000
Al 30,000
04 QIZHHAIAIH E X 35,000 33,000 2,000




2A:

PN
|

M ARXOPNES ST NGZH 263 (EL2Z/HK
el d=7208 2 - OHE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONBal H==HEHI| d= =22 N
£ 35,000,000& *13] 35,000
= 5,000
Al 30,000
&= skt - ol oF MIBAHE H U=l JHE 30,000 30,000
307 @12t0| & 30,000 30,000
04 QIZHHAMAIH 2 £ 30,000 30,000
OMM2l o= &= &ter - o et MIBXHEH 2]
DES| 30,000,000& *13] 30,000
d= SHAE=X {3 20,000 20,000 0
307 glztol & 20,000 20,000
04 CIZHHAMAIH 2 & 20,000 20,000
02023 QletIALIE =JHHE ded
20,000,000& *13] 20,000
H==AEHH 8= OtAHZE =FUE 20,000 20,000 0
307 @120l & 20,000 20,000
04 QIHHAMAIH 2 £ 20,000 20,000
OMIbal H==AlEHH H= OtAEHZE =EH3
DES| 20,000,000 *13] 20,000
= Aguiie Sa4FII03 40,000 70,000 /30,000
307 elztol & 40,000 70,000 230,000
04 QIZHHAMAIRH 2 X 40,000 70,000 30,000
O2023 8= AU Sa43IIU= HE
40,000,000 *13] 40,000
HE=AHSEI| = At=lel OF20i3l 20,000 20,000
307 gl2to| & 20,000 20,000
04 QIHHAMAIH 2 £ 20,000 20,000
OHMIM03 H==H=HI| 8= At2lQl OFTHS
BES 20,000,000& *13] 20,000
AHE dXledd X & NY¥Es Lt 256,220 114,860 141,360
< 40,000
Al 216,220
dHXzds =X 6.220 4,860 1,360
201 er23 | 3,500 3,500 0
01 At2teltl 3,500 3,500 0
Odgt==H| 3,500
oAEX[(IAE 82 M 7O
3,500 +1,000% 3,500
202 04| 2,720 1,360 1,360
01 =LHOLI 2,720 1,360 1,360
OS - ot dXled8 =Xl
85,0002 x2& x2 2 «82] 2,720
dXzeds K& 160,000 40,000 120,000
= 40,000




2A:

PN

ZM: AZX0BIYS S8 NGAN SLH2ALDB/HS)
Pl AR ®XS2E X L NS 23 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 120,000
307 gl2tol & 40,000 40,000
02 QItEHAEE X 40,000 40,000
OdXEed X (S - 6HA)
40,000,000 *13] 40,000
401 AIEHIZL SO 120,000 0 120,000
& 40,000
Al 80,000
01 Al&H| 120,000 0 120,000
OTG0o7E =S AIE FHIAI [2022F &
20,0008 2] 40,000,000 14! 40,000
ONFSESLIIS HACRT 22U A
80,000,000& »14! 80,000
== 40,000
Al 40,000
HXEdE cldd x| 90,000 70,000 20,000
307 elztol & 90,000 70,000 20,000
04 QIZHHAMAIRH 2 & 90,000 70,000 20,000
O&dXl=dg cladd Izl
90,000,000& *13] 90,000
dEH S S4(23L2Z/HS) 6,962,553 6,670,208 292,345
7l 843,706
= 71,197
Al 6,047,650
AEHs 54 2 A2 2,564,723 2,731,464 166,741
Il 245,504
= 7,680
Al 2,311,539
NEMSHAL X2 7,900 37,900 30,000
201 er23| 2,800 32,800 30,000
01 AtR2t2|HI 2,800 32,800 /30,000
O=g=¢g 2,800
oHFUEE2 3o FA =&
100,000 14 & 23] 2,800
202 04l 5,100 5,100
01 SLHoIH 5,100 5,100
OZ& Ual sddsH o1& & YR =
& 85,0003 x3Z*22 x102] 5,100
H=AlH=2 29 306,825 244,720 62,106
307 @20l & 306,825 244,720 62,105
03 PIZAHHNEE 22X 306,825 244,720 62,105
Ol=AldE= 282% A& 251,225
oANR=E 49,374
-=0 1,903, 100& x1E 12 22,838




2A:

PN

M MEHE S4(2L22/HS)
ool NHS S8 2 X9 (cr9): &2
RA - BH - SHIEN) - HRAY - BAS ol &t A HIDEZ
—&d0= 2,903, 1003« 12 =22] 5,807
—g&s0tdl 2,903, 1002 «60%*22] 3,484
-NEBEE 399, 1172x124+ 122 4,790
—Em3 353,223%1+ 12+ 122 4,239
KL
12,3213 x30A1 218+ 123 4,436
- Xg2 x| 175,000 x 12 x 122 2,100
—ZA=4d| 140,000& x 12+ 123 1,680
oXEXE 55,754
-=0 2,623,800 1~ 123 31,486
—&0= 2,623,8003 x1H 23] 5,248
-2 0| 2,623,800 «60%*22] 3,149
—-AMN2EEE 362,607 x1E 128 4,352
—Em3 320,923%1+ 1+ 122 3,852
Azt RRay
11, 1303 =30AI 21+ 123 4,007
RS =1 165,000& x 1+ 123 1,980
- HSAHI 140,000& x 12+ 123 1,680
S MNPUE 54,943
-=0 2,612,000 «1F 122 31,344
—&d0= 2,612,000 «1&8 23] 5,224
—gZ S0l
2,612,000 60+ 12 #22] 3,135
—ABIEEE 358, 1353 x 1P« 122 4,298
-&x= 316,948« 1H 122 3,804
EEECES=
9,992 x30AI 21+ 123 3,598
-2 155,000& x 12+ 123 1,860
—HHZ A 140,000& x1H 122 1,680
o X2 & 52,006
-=0 2,447,003« 1F 122 29,375
-0z 2,447,900 x 1823 4,8%
—HES0td| 2,447, 003 «60%*23! 2,938
—ABIEEE 338, 5423 x1H 128 4,063
-&x= 299,626« 1H 128 3,5%
—A2RI2R4E
9,992 x30AI 2t 1+ 123 3,598
= 155,000& x 12+ 123 1,860
— NS A 140,003 x 1= 123 1,680
SESel 39,148
-=0 1,748,300 x1H 122 20,980
&= 1,748,300« 1 %23 3,497
—dES0td| 1,748,300 *60%*23! 2,098




2A:

PN

HY: MBS S8(25URL/S)
=t XN9Hs =4 & N2 (SH9 H2)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-5&= 253,455 x 15« 123 3,042
-&&3 224,393 x 1+ 123 2,693
—AZIRIZ2R
9, 160R *30A| 2H*1H 123 3,298
- Az Ex] 155,000& x 15+ 12 1,860
—HAZAlH| 140,000& x1H x 122 1,680
OW==AlM=2 298I
55,600,000 14| 55,600
HE &8 dE X 9,000 9,000 0
307 2I2+0l™ 9,000 9,000
02 QIZHA A AL E X 9,000 9,000
OHZHE L AHME BF H4E X2
9,000,000& * 14 9,000
detdE M=0ig &0t 247,000 240,000 7,000
307 212+01 A 247,000 240,000 7,000
02 QIZtBAAIEER 247,000 240,000 7,000
ONezgl detd® M=sUsl &t
247,000,000& *13] 247,000
ABIXMEHS KA 673,000 773,000 100,000
301 LB F 661,000 661,000 0
11 SHAIAHIXI &2 661,000 661,000 0
OHN252] A=z S8Hs =83 661,000
SEINES 24,000,0003*200SH= 576,000
oAHAH 29,000,000 14 ™ 29,000
odd, StEHA 28,000,000 *20HH 56,000
307 212+01™ 12,000 112,000 100,000
06 2832 12,000 12,000 0
ON252] ABIX=EHa Sdd dolE8s
12,000,000 *14! 12,000
e Mt MEd 23l 3,000 3,000 0
307 212+01 A 3,000 3,000
02 QIZHAAAIEER 3,000 3,000
Q2023 Cisgtl Metd: NEd d2iis &
o 3,000,000 *13] 3,000
HetedE E2AMEMSUHSE &t 25,000 25,000 0
307 212+01™ 25,000 25,000
02 QIZHEAAHE X 25,000 25,000
ON18g HMeteE HEAMMEMSUHEE &
It 25,000,000 *13] 25,000
IR0 A Hisel AN =X 80,000 80,000 0
307 2I2+01A 80,000 80,000
02 QIZHAAAIEER 80,000 80,000
02023 st=20 At Htseld &3
80,000,000&*13] 80,000




A RS =N L s
HY: MBS S8(25URL/S)
el AgHE |54 & AE EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
gollet 65 AT dEMS s 10,000 10,000
307 elztol & 10,000 10,000
04 QIZFHAFAIRIE X 10,000 10,000
OUBHe HEH DIAZ MBHS DRH O
| 10,000,000& * 12l 10,000
2E Ul 28 L AL X2 30,000 30,000
307 @I2t0| & 30,000 30,000
02 QB AANEE R 30,000 30,000
OA& U2l &8 & A XI1E
30,000,000 *14! 30,000
UBMS S XA BIXI (E2SKIE) 300,499 283,172 17,327
Il 122,752
== 3,840
Al 173,907
307 212+01& 300,499 283,172 17,327
Jl 122,752
= 3,840
Al 173,907
02 QB HANEER 300,499 283,172 17,327
OLBHHHSX A 28 300,499
cMEHSXNEX S0
2,141,000 «8& « 12 205,536
Jl 102,768
Al 102,768
oHITFHS 403,000 8+ 122 38,683
) 19,344
Al 19,344
o=t ESEEE 160,000 «8& 1,280
7l 640
Al 640
osdIRsd 79,8502 x8H 3 1,917
odZELd 79,8502 x8H 2 1,278
o243 50,0002 «8& = 122 4,800
S 300,000 x8H *13] 2,400
=01l 300,000 ~8H 122 28,800
ocHES I 350,000 x8H *23] 5,600
oS A2 100,000 8+ 122 9,600
=S 3,840
Al 5,760
ogd¥sd 50,0003 x1&* 122 600
HEMMEYSIIEA BIXI(ZSXIH) 299,899 283,172 16,727
Il 122,752
== 3,840




2A:

PN

¥ d2Hs SY(SAL2E/HR)
el XEHs =4 & A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 173,307
307 gl2tol & 299,899 283,172 16,727
Il 122,752
= 3,840
Al 173,307
02 2IZHBYAIHE X 299,899 283,172 16,727
O0Z24 MEXHSXNEX 2 299,899
ooz XML S0
2,141,000 ~8H 122 205,536
Jl 102,768
Al 102,768
oHITHE=S 403,000 ~8H 122 38,688
Il 19,344
Al 19,344
oNEX E52E8R 160,000 8% 1,280
) 640
Al 640
ondIRsE 79,850 x8H+32 1,917
oEZELd 79,8507 x8H x2 1,278
o=l 50,0002 x8& * 12 4,800
Sl 300,000 x8H*13] 2,400
=044l 300,000 x8H 12 28,800
o HE S I 360,000 x8H +23] 5,600
S5 t=INEals] 100,000 ~8&*12& 9,600
= 3,840
Al 5,760
ANRIAZSE ZZ2 )8 29 27,600 42,000 14,400
307 @120l & 27,600 42,000 14,400
02 QB HANEEX 27,600 42,000 14,400
OAZIAZSE T2 27,600
oXNEA =& 800,000 x4 H+7& 22,400
oFFEG (S 50,0003 x1H«7& 350
oI & 0tol3 =2l - WA
1,500,0002 %14 1,500
oYILLAY 0l & =2l
1,600,000 *14] 1,600
o2l 1,750,000 *14] 1,750
O=Al2l22 &l alel HILIA T2 10,000 5,000 5,000
307 elztol & 10,000 5,000 5,000
04 CIZHHAMAMH 2 & 10,000 5,000 5,000
OHMI26a] H==Al2lZ|AZHH Aol HILIALHS
Dk 10,000,000& x12] 10,000
O==Al22|2 & 20128 F7UE 12,000 7,000 5,000




A X2
M MEHE S4(2L22/HS)
el XEHs =4 & A (SH9 H2)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
307 212t01™ 12,000 7,000 5,000
04 QIZHHAIAIH 2B = 12,000 7,000 5,000
ORMI3=2l H==Al2l2o Sl =JI28 S0
2 = 12,000,000& x13] 12,000
O=Al2I & ABHER 10,000 0 10,000
307 212+01™ 10,000 10,000
04 CIZHHAIAIS B & 10,000 10,000
02023 O==Al2ZH AHES U2
10,000,000& * 14! 10,000
g5y dEMSUZ 30,000 30,000 0
307 212t01™ 30,000 30,000
04 QIZHFHAIAIH 2B = 30,000 30,000
O3l 25 MBHSHS HE
30,000,000& 13 30,000
AEIIU=l iz 139,000 139,000
307 212+01™ 139,000 139,000
04 CIZHHAIAIS E & 139,000 139,000
OAIZIItHEl & BEITHS WA (BHES)
139,000,000& * 14! 139,000
Oi==AIZHHH AIRI HISCOHS 6,000 6,000
307 212t01™ 6,000 6,000
04 QIZHFHAIAIHE B = 6,000 6,000
ONI92l Od==AIEHH AR HHSO 2l JHE
6,000,000 12l 6,000
SEXSY HolEEHa 5,000 4,500 500
307 212+01™ 5,000 4,500 500
04 CIZFHAIAIS E & 5,000 4,500 500
02023 S2XS HNOIEE Wal JH=
5,000,000& 13! 5,000
o2dl etX2 702 10,000 10,000 0
307 212t01& 10,000 10,000
04 QIZFHAIAIE 2 = 10,000 10,000
OHNiggl {24! etkig &0zl HE
5,000,000& 23! 10,000
O==AI2 THEH CHE A 9,000 9,000 0
307 212t01™ 9,000 9,000
04 QIZHHAIAIH 2 £ 9,000 9,000
02023 H==AIR1 RHED CHRHA! DR
9,000,000& %12 9,000
et EXIAHE g2l 5,000 5,000 0
307 212+01& 5,000 5,000
04 QIZFHAIAIE B = 5,000 5,000
ORNieal Mcte=XIAN S22l JHEl
5,000,000& 13! 5,000




A RS =N L s
Hu: MEHS S4(2SHUBZ/US)
el XEHs =4 & A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
gdsd Al ==SSE delE s70E 5,000 5,000
307 elztol & 5,000 5,000
04 QIZHHAMALH 2 & 5,000 5,000
O3 & - B4 TEAl X - SS9 YelE
=02 JHA 5,000,000 5,000
AHAl - 2 dEHE WFE Ft 30,000 30,000
307 @I2t0| & 30,000 30,000
04 QIZHHAMAIH 2 £ 30,000 30,000
ORNI3&l OHAl - 2(0==, =8, 2, o) M
M= wsd OhE 30,000,000 *13] 30,000
H==tiEaldtl SusSstl AX=3E Hi20U= 4,000 0 4,000
307 lztol & 4,000 4,000
04 QIZHHAMAIRH 2 & 4,000 4,000
02023 K==t el S 0SSt AX=
28 U= 4,000,000& *12 4,000
g2 532 Ual =l 20,000 20,000 0
307 @120l & 20,000 20,000
04 QIRHHAMAIH 2 £ 20,000 20,000
02023 )| S5 Ual =l
20,000,000& *13] 20,000
O==AlMI=l2l 3tef stote AL 30,000 60,000 30,000
307 elztol & 30,000 60,000 /30,000
04 QIZHHAMAIH 2 & 30,000 60,000 30,000
02023 H==Al M=l 2tet o0t
30,000,000& *13] 30,000
HeAXSEAMY SN 200,000 200,000
307 el2to| & 200,000 200,000
03 PIZHNEE 22X 200,000 200,000
ORAH FA2E H=oH&FC U-18 XA
130,000,000 * 14! 130,000
ON=ZB3AZXZSY 29
70,000,000& *14] 70,000
SINONE (BHES-HILIA) AZX2Y Al 28 (=0t 20,000 20,000 0
IIX—IA'.%—{)
307 el2tol & 20,000 20,000
03 2RI HEE=2SHIE X 20,000 20,000
OstnAHE (e ES-HILIA) AXXZY 2
pes 20,000,000& 20,000
FOH=E TS & AAH5 XN 1,331,344 1,029,563 301,781
7l 563,202
= 63,517
Al 704,625
O MSRA K& 2,040 2,040 0
202 04| 2,040 2,040




2A:

PN

M MEHE S4(23L2Z/HR)
ol M= =48 L AHS X (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 =WO4bI 2,040 2,040 0
O2AZ HOQIMSHAL BIHAAE 01z L
SEUR = 85,0003 2 22 63 2,040
H==AlZOHe! XF2 2F 200,619 157,779 42,840
307 212+01™ 200,619 157,779 42,840
03 IZIHXEE2IHIE X 200,619 157,779 42,840
OFMeIM=z 2923 XA 162,119
OAR=E 52,424
-=20 2,015,700 x 18~ 128 24,189
-&0= 3,015,700 x 1 +23] 6,032
-GES0HI 3,015,700 *60%*23| 3,619
—AN3lEE& 472, 0003 x 18+ 12& 5,664
-gx3 392,000 x1E = 12& 4,704
— A2 2R
12,3213 +30A1 2Hx1H =123 4,436
- &ZEx| 175,000 x1H + 122 2,100
—Jug A 140,000& x 19+ 12& 1,680
o X+& 58,467
-=20 2,723,900 x1H+12& 32,687
-&0= 2,723,900 *1H*23] 5,448
—YES0HI 2,723,002 x60%*23| 3,269
-AIZIBEZ 427,000 x 18+ 12& 5,124
-E&3 356,000 x1Z+12& 4,272
— A2 2R
11, 130&*«30A 2H 1B =123 4,007
- AZEx| 165,000& * 15 *12& 1,980
—HAZ A 140,000& x 19+ 12 1,680
o & 51,228
-=0 2,359,800 x1H +12& 28,318
-&0= 2,359,800 *1H*23] 4,720
—GESOHI 2,359, 800& *60%*23| 2,832
-AIZIBEZ 373,000 x1Z = 12& 4,476
-&&3 312,000&x 15+ 12& 3,744
—AlZ2t22RY
9,992 x30A| 2h 1« 123 3,598
s Pl | 155,000 x1H + 122 1,860
—HAZAH| 140,000& x 19+ 12 1,680
OZUIM=3 24|
38,500,000 14 38,500
&= ZoHe! =3 6,500 5,500 1,000
307 212+01™ 6,500 5,500 1,000
02 QIZHAAAIHE X 6,500 5,500 1,000
ORNI432] &= ZoHe! M=zl &It XI&
6,500,000& *13] 6,500




2A:

PN

¥ d2Hs SY(SAL2E/HR)

SR HUIME S4 & 2005 X2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
detd s ZOoH M=zl 110,000 100,000 10,000

307 elztol & 110,000 100,000 10,000
02 2B YA E X 110,000 100,000 10,000
OHMi31al Metde ZOH M= &t X
110,000,000& 12 110,000
NZ2 =M MO0 OtetEHa 4,000 4,000
307 @I2t0| & 4,000 4,000
02 QB AANEE R 4,000 4,000
ON283l ME=H EHM0 OtetE02 Zot
A& 4,000,000& 12 4,000
SIE &= YHUMSUE 15,000 15,000 0
307 lztol & 15,000 15,000
02 2IZHB A E & 15,000 15,000
O2023 58 8= ZAUMEU =
=4 15,000,000& * 14 15,000
dg sote! MEial 6,000 6,000 0
307 @120l & 6,000 6,000
02 QA HAIEE X 6,000 6,000
ON233l &g =0te! M=tz &t
6,000,000& 12 6,000
Hetd = AIZIER MSE 4,000 4,000 0
307 elztol & 4,000 4,000
02 LB HAHE L 4,000 4,000
OHMI62l Hetee A MAMFR &t
4,000,0008 %13 4,000
Hete e Z0He! HEMFU 20,000 20,000
307 el2to| & 20,000 20,000
02 2B YA R E A 20,000 20,000
02023 detd MU=l It X
el 20,000,000& *13] 20,000
ZOoHe! MEMS XX BHXl XI& 224,443 207,844 16,599
7l 91,584
S 2,880
Al 129,979
307 @120l & 224,443 207,844 16,599
Il 91,584
= 2,880
Al 129,979
02 2IZHBYAIHE A 224,443 207,844 16,599
OHMIYEEHNFAEA 29 224,443
oMENFNE=N S04
2,141,000 6E 122 154,152
Jl 77,076
Al 77,076




2A:

PN

¥ d2Hs SY(SAL2E/HR)
SR HUIME S4 & 2005 X2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oHITHE=S 403,000 6H 122 29,016
Jl 14,508
Al 14,508
ogdIRsY 79,8502 x6 & 123 +50% 2,875
cHESIMH 350,000 x6H *23] 4,200
o2 3| 50,0006 * 122 3,600
ol =H| 300,000 62 +13] 1,800
< 04t 300,000 6+ 122 21,600
o2&l 100,000& 62+ 123 7,200
== 2,880
Al 4,320
O==Al HOHQ! MEX=UZ 27,000 27,000 0
307 lztol & 27,000 27,000
04 QIZHHAMAIRH 2 X 27,000 27,000
ORNI252] O{==Al oIS M=U=2] N
27,000,000& x13] 27,000
= M0l HAALX (R3] 20,000 20,000
307 gl2to| & 20,000 20,000
04 QIHHAMAIH 2 £ 20,000 20,000
OHMI143l H=H=HE E=ZO0HQIHA AT
=l & T2 - OtOIFOHAAL X H==
pail k=1 20,000,000& *13] 20,000
SHAI(O =, =&, 2Y) ZHAMENS wFd 10,000 10,000 0
307 212+01& 10,000 10,000
02 LB HANHEE 10,000 10,000
02023. 3MAI(O1==, =&, ) ZOHQI LSS
wnsd ot 10,000,000 *13] 10,000
g -3 e 2HE AduIH 5,000 4,000 1,000
307 el2tol & 5,000 4,000 1,000
04 CIZHHAMAMH 2 & 5,000 4,000 1,000
ORNlzel 85 &2l 2atMs JduFH
DS 5,000,000& *12] 5,000
ZoHele el 3,000 3,000 0
307 212+01™ 3,000 3,000
04 QIZIHAIAIH E X 3,000 3,000
ONI28] KH==AIZIIbH ZoHECH3l
3,000,000& %12 3,000
AH AT 01BA X2 601,921 391,850 210,071
Jl 421,344
[ 54,173
Al 126,404
301 LEIE NS 601,921 391,850 210,071
Jl 421,344
s 54,173




2A:

PN

¥ d2Hs SY(SAL2E/HR)
SR HUIME S4 & 2005 X2 (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 126,404
01 Al EE A S (2 RDEEMA) 601,921 391,850 210,071
OAZ=2% 018 KA
601,921,000 x14] 601,921
Jl 421,344
= 54,173
Al 126,404
ZOoHe! AX=2AR0IEH XIS 71,821 36,550 35,271
Il 50,274
= 6,464
Al 15,083
301 LEetE N = 71,821 36,550 35,271
) 50,274
= 6,464
Al 15,083
01 Al EEABZ2(2DEEMR) 71,821 36,550 35,271
O Ax=2% 0|8 X
71,821,000& x 14 71,821
) 50,274
S 6,464
Al 15,083
stuHsE 54 2 N3 325,800 263,900 61,900
) 35,000
Al 290,800
St M= A2 255,800 263,900 /8,100
308 AFAIEHMSOIE 255,800 263,900 /8,100
08 W=J|20tetEx 255,800 263,900 28,100
Oogtu 2sZJI1F K&
94,200,000 * 14! 94,200
Ot 253712 A=A K&
111,600,000 *14] 111,600
Ozt 2 A2IE H=E X
50,000,000 * 14 50,000
HEDISD|BHEHA Ot SIA AZXM £S5 2 70,000 0 70,000
2)
Jl 35,000
Al 35,000
308 XXM SOIA 70,000 0 70,000
Il 35,000
Al 35,000
08 W=J|20He 22 70,000 0 70,000
OIS (WR) 2ZZA 2SAHY
70,000,000 * 14 70,000
) 35,000
Al 35,000




SN SR
M MEHE S4(23L2Z/HR)
el RYESEIIR |4 (Gt H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
NE2sEIIR |4 2,740,686 2,645,281 95,405
HEzsdI IR 2829 2,526,646 2,452,581 74,065
101 eI t| 34,282 32,947 1,335
M IIRINZ2Z2XsSEs 34,282 32,947 1,335
Ou=t g=A AlgR 34,282
SRuE 76,9602 1B x5 «52== 20,010
oxFgsg 76,9603 *1H«52== 4,002
oMEZ BNL
6,0802 x 1H+62 «522= 1,897
oA EEZ 3,133,000 *14] 3,133
SISESES 5,240,000& * 14! 5,240
201 B2 AY| 39,144 37,944 1,200
01 At 22|l 10,344 9,144 1,200
2ot>ZH| 10,344
cHERSZIIR gsa 28 ARE 722
300,000& 123 3,600
ot sARY HARR FY
150,000 *20E 23| 6,000
CHARSZIIR E=sA F3)| iz
31,0003 «2CH* 123 744
02 E324H| 28,800 28,800 0
O332=2 & HAl 15,800
oHNERSZIIR =4 2eldl & Sita
400,000&x25+ 128 9,600
cHHHFE dol2EE=
100,000 *32H 3,200
oASQREE MIIZ(REE AI232H A
a1 250,000& 123 3,000
OAEEHIR X 13,000
CHARESEIIR =54 AE 2K
10,000,000 14 10,000
cHAREZIITR EdiOIdE 2371+ =
el 3,000,000 14 3,000
202 Ot 3,060 2,040 1,020
01 =WO4bI 3,060 2,040 1,020
OXEB2sEIIF d=U3l Itk o1&
85,0002 *3E x2 2 63 3,060
301 LB F 2,448,210 2,379,650 68,560
2= - 2SFSE43 2,448,210 2,379,650 68,560
o= 1,385,000
ozs 4 IX(ASH)[EY, RE, RE,
£24] 5,000,000& x5 x 122 300,000
o= (HSH 1,085,000
-=3 60,000, 0002 x4 240,000
-A= 45,000,000& 10X 450,000




S MSKIRD
Hu: MBHS SS(SHLB/AK)

HMEE
Ofl &k2h

-B= 38,000,000& +5H
-C= 30,000,000 +3&
-D= 23,000,000& +5&

200,000& x32H 122

300,000 x5 <122

OXMEete]
o= & ZX 200,000 x5~ 128
o 150,000 x27 &+ 12&
OEgtI(=S<|, 2taldl, SAH|I 2§

450,000 +32F « 12

ong+¢<

Sl 100,00024%20% 1224
cSHY 80,00021+25%* 122
oSHE 60,00021+30 * 122

ONZAUSY H4 €23

166,200,000 * 14
OMIEEE 15,000,000& « 122
S8 NSNS, 2X) RS0

85,0003 x5 x5 +23]

85,0003 *32H «5 2 »83]
85,0003 32 14 »23]

O
r
=

raH
FEE
=

Odl==th &#Z 2Y 500,000 * 12
O&=HE &8 & N
1,000,000& x40 E=
ORed LY (SR
5,000,000+ 14!
Ot LA (MIA203 SHA)
19 1,000,00084 %13
o292 700,000& %12
<39 500,000& *13]
Ot LA (MIA20E JHeIA)
o1¢ 300,000 x5 +23]
=29 200,000& x10& *22]
o392 100,000« 10 *23]
ORed LY (AIMN 2H%)
19 1,000,00024 52 *13]
=29 700,000 5«13
=39 500,000 x5 *13]
O=IIHE &2 ¢

300,000 «2F 122
70,000,000 %14

®
10
4
rx
4
02
11

190,000
90,000
115,000

76,800

18,000
60,600
12,000
48,600

172,800
69,600
24,000
24,000
21,600

166,200
180,000

4,250

108,800
76,160
6,000

4,000

5,000
2,200
1,000
700
500
9,000
3,000
4,000
2,000
11,000
5,000
3,500
2,500

7,200
70,000




SN SR
¥ d2Hs SY(SAL2E/HF)
ol HEESEIIF |4 CERE)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OMEESZIIR AL
130,000 x5 #2435 15,600
405 KHoHFSHI 1,950 1,950
01 ML ESFSHI 1,950 1,950
ONF2SHIIR &34 U =D 79
1,950,000 *1CH 1,950
2E8§ 29 68,740 63,740 5,000
301 2eEN= 68,740 63,740 5,000
Rzt - 2SFS2EHs 68,740 63,740 5,000
OR=0HE BT Il 28 AR
1,500,000& 42 6,000
OdXIeedl (38, ZHI28HI)
10,000,000 * 14 10,000
OAZ sl B IH)
1,180,000 42 4,720
Oo2sE=s 7Y 20,020
oxcld 180,000& * 72 = 23 2,520
o8 180,000 7 & *13] 1,260
= 130,000 7 »23] 1,820
oRLIZ 180,000 *7& *13] 1,260
odst=s 300,000 713 2,100
oots 130,000& 7 & *13] 910
oQREHII= 1,100,000 x7 & *12] 7,700
oR2EEY 012 350,000 7 H*13] 2,450
ORE == FHl ud & =4
2,000,000& *14] 2,000
OXEd Zcld 1,200,0002 %14 1,200
OREN=E 2d(5=H)
200,000 * 128 2,400
ORES Hd=55HI 100,000 +6& 600
ORENTE S dol28x
500,000& 14 500
OREZH 4258 #Y 21,300
o= M470=(oe!, &, ABAY)
5,500,000 1M E 5,500
o=N4%r= Moo, &, AHAY)
8,300,000« 1ME 8,300
o= MOIMS (MY, DIAE, )
3,000,000 1K E 3,000
o3 MIFILE (MY, OIAE, 5)
4,500,000& *1HIE 4,500
S48 24 28,560 28,560
301 EtE NS 28,560 28,560
Ristd - 2SFS2EYs 28,560 28,560
Oo=2sEs 7Y 16,980




2M: HSXAD
M MBS

Gl NMeEZIIE BH (ol 28
A - B S2(B) - KISAY - BAS A
oxcld 200,000 +8H +23| 3,200
oRE3H (Y3 200,0002 8 *23] 3,200
oJtgt 90,000 x8H*13| 720
ogtsts 300,000 *8H *13] 2,400
oE= 180,000&*8H * 13| 1,440
omULZE 180,000 x8H*23 2,880
oot= 130,000& *8H*13] 1,040
oN=g AI0I3 350,000 *6F *13] 2,100
O FAH=4AHAY HFH|
3,000,000&*12] 3,000
Oles4AY d= S=H|
30,0002 6 180
OUfstsA3I|IH9Y tHal &I
10,0002 x6Z 53| 300
O&HI R (ELH, 28 BXEHl S)
8,100,000& x13l 8,100
T8 29 26,220 26,220
01 LBIEXZ 26,220 26,220
2=t - 2S2SE43 26,220 26,220
o237 23,080
CRTS(HA, W)
500,000& *8H *23| 8,000
om& 60,0002 x8H*13| 480
o233t 200,000 8 *23] 3,200
=y 90,0003 x8H*13| 720
oxcld 200,000 *x8H *13] 1,600
oJ|EtEdEsE 200,000& *8H *23 3,200
oE= 180,000&*8H * 13| 1,440
ogtets 300,0002 8= *13] 2,400
oot= 130,000& x8H*13] 1,040
oEHEE(HOIE &)
1,000,000 14! 1,000
O=mAAREAY HF|H|
3,000,000 *13] 3,000
OUgt=rE3 d= S=H|
20,0007 140
EdE 29 90,520 74,180
301 LB F 90,520 74,180
2= - 2S2SEAZ 90,520 74,180
o2s83 7 16,740
oxcld 200,000& x9H +23 3,600
omLZE 180,000 x9H 23 3,240
o2=3t 200,0002 x99 »23] 3,600
oJtgt 90,000 x9F 13| 810




S MSKIRD
Hu: MBHS SS(SHLB/AK)

el NE2SFVIR |54 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o&= 180,0003*9& *13] 1,620
odst=s 300,000 «0H *13] 2,700
oot= 130,000& 9 x13] 1,170
OF4=]Eud 73,600
oE 250,000 x4 2 +8H +63 48,000
of X, I Mg, &
3,200,000 «8E 12 25,600
OUsE2ZI|oY &2 S=h|
20,0002 9 180
At ENcHE SSHSAE 83 (2L22/HS) 8,563,735 1,648,005 6,915,730
Jl 731,000
Al 7,832,735
SSHEAE &3 & JHl 8,563,735 1,648,005 6,915,730
Jl 731,000
Al 7,832,735
HEAE && & 3l 1,320,000 250,000 1,070,000
401 AIEHIZL 2 THYI 1,320,000 250,000 1,070,000
01 AlZ8| 1,310,730 248,020 1,062,710
OSSHSAIL (A2, AIES) 2+ FH
100,000,000& *99.10/100 99,100
OEZ &k II3=8d BoAE £X
100,000,000 *99. 10/100 99,100
OXEHE3~ 227 &4 &1
50,000,000& *98.92/100 49,460
OFHQI3E HIIE AIES8 MHE= At
70,000,000& +99.10/100 69,370
Odlg=gdo1d &0 WA
1,000,000,000& +99.37/100 993,700
03 AIZ S THYI 9,270 1,980 7,290
OS3HSAIE (A2, AIES8) 2 FH
100,000, 000& *0.9/100 900
Os& ¥k II3="d BEoYAE £X
100,000, 0002 *0.9/100 900
OFENS3H BEE SHEA 41
50,000,000& *1.08/100 540
OEQ3E ZIIE AE2 MHES SAt
70,000,000&+0.9/100 630
Odlg==go|d &0 WA
1,000,000,000& *0.63/100 6,300
SUXM=sAE &s 2 J4l 553,735 478,005 75,730
101 @124H| 19,933 19,203 730
M IIRIMZENSES 19,933 19,203 730
OsSUMsAIZ2d] M=5Y 13,287
oolggl 76,9602 x2H +40 2 %23 12,314
CMET PR
6,080& x2& x40 23] 973




2A:

PN

Mu: AOID SNGHs BRASAE HE(SHUDB/HS)
ol ZDAHSAL 2= L | (SHol: )
= d L=
SA - BE - G9I(3H) - NIRAY - BES Ol ko e HlRE2
O734 SUNSAIE stEa 2el 3,323
SR 76,9603 x 142+ 102 3,079
oMEAUZ BEAY
6,080« 1H+x4L 102 244
Ozt HOIESE tEA 22 3,328
== 76,9603 x1Z 42+ 10 3,079
cMED BEAY
6,080« 1E*x4L 102 244
201 2| 107,842 107,842
01 AtR2eltl 7,333 7,333
OgBt=2H| 7,333
oPEH BBA SuHel U B2
181,600 +8& 1,453
oSUNSAIE 3t ARFS 7Y
240,000 123 2,880
osUIMSAE SX2el 88 +
3,000,000 14! 3,000
02 2324l 100,509 100,509 0
O3 & HAl 509
oSUIMSAME &Ig L AoteE s
42,3703+ 128 509
OAlE &R X 100,000
ocSUNMSAE /X 22l
100,000,000& * 14! 100,000
202 Ot 960 960
01 =LHOLI 960 960
OsUIMSEAIE 832 22| gRF8
20,0002 x2H 4 U +62 960
401 A& B2 20| 425,000 350,000 75,000
01 AlEHI 421,490 346,760 74,730
OJIE SU=SAE0IF, ME8) B+ &
] 100,000,000 * 14! 100,000
O25F3 HHE S 54 SUMSAIE X
50,000,000 *38.92/100 49,460
Os¢ts 202 sUMSAIE &2X
20,000,000 *98.92/100 19,784
O4ctH Ao=0t2 sUlMSsAIE &X
20,000,000 *98.92/100 19,784
OActdH dEd0ls sUIMSAE £X
20,000,000 *38.92/100 19,784
Os&Y Hd3iits sUMSsAIE &4X
20,000,000 *98.92/100 19,784
OsZd tslilE sUIMsAIE 21
25,000,000 *98.92/100 24,730
Os&d F30t2 sUMSAIE &X
20,000,000 *38.92/100 19,784




2A:

PN

HzH: A2l Mol Z22HSAE S$E (2322 HK)
oiel: 22USAL 2AE U =Y (crel: g)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
O3l2kH OHAOIE SUIMISAIE &X)
20,000,0002%98.92/100 19,784
O3t8™H AIZ0E sUIXMSAIE &X
20,000,0002%98.92/100 19,784
O3tdH A&0IE SUIMISAIE &X
20,000,0002/%98.92/100 19,784
OLEE diRel=& SUIHSAIE &X]
20,000,0002%98.92/100 19,784
O0&s 24012 sUIMEAIE &X
20,000,0002%98.92/100 19,784
O0AME tXIOIES 2=J17 &Xl(2022¢ =H|
1584 0Fl TL5) 50,000, 0002%98.92/ 100 49,460
03 A& 2 0HHI 3,510 3,240 270
OA5F2 FH S 5)A SUHIMSAAE AX
50,000,0002! *1.08/100 540
O=sttg BEOIE SUIMSAIE &X
20,000,000& *1.08/100 216
O4achH AMo=0I2 SUIMISAIE &X]
20,000,0002*1.08/100 216
O4actH EE2&0I2 sUIdSAIE &X]
20,000,0002 *1.08/100 216
O2&EH G022 SUIMSAIE &X
20,000,000& *1.08/100 216
O8&H 4U43liE sSUIdIsSAE &X
25,000,0002 %1.08/100 270
Os&H =02 sUdsAIE &X
20,000,0002 *1.08/100 216
O3t2H OtADE SUIMSAIE &X)
20,000,000& *1.08/100 216
O3IEH AIZ0IE SUIMISAIE &X)
20,000,0002*1.08/100 216
O3t8™H A0IE2 sUIMISEAIE &X
20,000,0002 *1.08/100 216
Ods diRelsd sUldSEAIE &X
20,000,000& *1.08/100 216
O0&SES 2402 SUIMISAIE &X
20,000,0002*1.08/100 216
OWMNES tiXIoE 2321+ &
50,000,0002! *1.08/100 540
HOIEZSHE JIsEB 750,000 20,000 730,000
401 A& HIZLL0HH] 750,000 20,000 730,000
01 Al&H| 732,825 19,784 713,041
oo HolIEEE BX7E HE
750,000,000&!%97.71/100 732,825
02 Zelbl 12,450 0 12,450
OO0t HoIESE BX2& HE
750,000,000 %1.66/100 12,450
03 Al E20HYI 4,725 216 4,509




2A:

E M

ol SSHEAE &5 & 4| EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OOt HOIEEE BX7E HE
750,000,000 *0.63/100 4,725
SHILNSHEYH A 3,500,000 3,500,000
401 A& B2 20HY| 3,500,000 3,500,000
01 AlEHI 3,439,800 3,439,800
OSHRVHSHE A2 AL
3,500,000,000%*98‘28/100 3,439,800
02 eyl 50,750 50,750
OSHEILMSHEH HE A
3,500,000,0002*1.45/100 50,750
03 Al CHHI 9,450 9,450
OSHEIUMSHEH HS A
3,500,000,000&0.27/100 9,450
AEHSsZ AL IHES 595,000 595,000
| 178,000
Al 417,000
401 Al HIZL S 0HY| 595,000 535,000
| 178,000
Al 417,000
01 Al&HI 591,252 591,252
OFLEHSE “SAE WES SAH2023 &=
ME L MIFONIMA CHEI)
595,000,0002+99.37/100 591,252
| 178,000
Al 413,252
03 A& 2 CHYI 3,748 3,748
O&H s §— & JHE= SAH2023 &=
ME L MIEONIME CHEI)(1.63%)
3,748,000 14 3,748
A0S S2AIE JHE 1,420,000 1,420,000
| 426,000
Al 994,000
401 A& BIZ20HbI 1,420,000 1,420,000
| 426,000
Al 994,000
01 Al&Hl 1,414,888 1,414,888
OXYOIRE “FAIE WES SAH2023 &=
MAE L MIEONIMA CHEI)
1,420,000,0002+99.64/100 1,414,888
J| 426,000
Al 988,888
03 Al CHHI 5,112 5112
OXY0IRE SEAIE HES+ SAH2023 &=
M L MIFOHCIMA CHol)
1,420,000,000&+0.36/100 5112
ASREH LRAM HWES 425,000 425,000




SN HEXRD
3 AL ot SSHSAE 2S(SAL2E/HF)
ol SSHEAE &5 & 4| EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 127,000
Al 298,000
401 Al HIZL 01| 425,000 0 425,000
Jl 127,000
Al 298,000
01 Al&H| 421,940 0 421,940
OASQREH LRAE HESSAH023 &=
HE 2 MIZOIME ChHl)
425,000,000 %99.28/100 421,940
) 127,000
Al 294,940
03 Al 20HHI 3,060 0 3,060
OASREH LRAE HESSAH2023 &=
HE 2 MIFONIME ChHl)
425,000,000&+0.72/100 3,060
AEL BolR(Fol HISAIE 29 - 2e(SSA2Z/HK) 5,073,984 4,613,404 460,580
HEAlE 28 & 2 5,073,984 4,593,964 480,020
AgMESE 28 & 2 1,283,652 1,075,651 208,001
101 21A4H| 233,562 119,382 114,180
04 JIZtN2 2N S 2+ 233,562 119,382 114,180
OZHEZE2 AMEs Ea 2= 32,39
Q2 76,9603 x 1 H 5L x52%= 20,010
oFFd 76,9603 x1H 12 #52== 4,002
oMED FHLY
6,080 1H+6& +525= 1,897
cRgaRLy
83,0403 x 1+ 123 »150% 2,990
oMBIEER 3,500,000& x1H 3,500
OAGHILIAZ A= 223 35,141
solse 76,9601 1 2 152U »46% 17,701
oxgY 76,9602 * 1241267 3,541
oMBD PRELL
65,0802 %124 x6 2 x463E 1,679
cRYIRAY
83,0403 x 12 +702 % 150f% 8,720
oMNIEERE 3,500,000& 1 3,500
OZIYHHERIEE AIEE 223 105,417
o012 76,9602 x3EH x5 463~ 53,103
oFFrd 76,9603 x3% x 12U »465= 10,621
ocdggs 2dH
6,080%1 %321 4621 #4657 5,035
cBgResd
83,0403 x3E 702 *150% 26,158
oMeIEER 3,500,000 «3H 10,500
OT=MA & 241l &= 35,874




A MSXI3D
Ha: Al HAUSIFO MSAL 29 - 22l (SSLBH/HS)
SRl MEAlE 28 2 2Ll (St &)
SA - B GR(31) - HIRAY - BES ol &k G o HlmS2
== 76,9603 x6H 12263 33,247
oMEeT BAELL
6,0803 x6ZH 12263 2,627
O3 &3yl o8 12,275
ool 9,602 *4A| 252 #1224 x43] 9,23
oxgag
9, 62021 *4A| 252§ x32 #4 3] 2,309
cMBAIPHAY
3,0403 x5 x 122 43 730
OUZ dAl = EA02 12,456
cQIfY 76,9602 *10H *153] 11,544
MR BELY
6,080& x10*153] 912
201 L2 | 838,730 817,014 21,716
01 At 22|l 205,866 192,668 13,198
Oget=ZH| 188,250
oSt&A BHEBE S
122,000&*55* 10Kl E*43] 24,400
o2SHIE 500,000&*7S 3,500
S3=ES 50,0002 * 100H 5,000
oatH|oE 150,000& * BNIE 750
SHSAE YHALS 2,000,000 *33] 6,000
SHMSAE 28H & S0
80,0002 * 12DHA » 23] 1,920
oHFAIE R0I1&3D| =S U™ 4=
= 120,000 128 1,440
SHSAIEES BI| GHEY BH 242
6,000,000 *2IH %23 24,000
ozl RAE ¥ BIIBA & ==
= 220,000 & x50+ 122 13,200
oMJ|otMzte| e =2
5,500,000 12& 66,000
oAZOIRPR| (Y a2
1,200,000& =123 14,400
o201 AH| RAE 23|
220,000 123 2,640
SANYEHEINE BUSE =&
25,000,000 14 25,000
o2&+ 8,400
oYX 60,0002 *1H» 122 7,320
oM (HAAEY) (HHL
60,0002 *183] 1,080
ogx=z 9,216
oFZ)| IX= 42,0002 +8CH+12& 4,032
o3tEA HIO AHER2
27,0002 *16CH+ 122 5,184




2A:

PN

Zo: ARl BOIPIEO HSAIE 2% - 22 (SALB/HS)
Rl MsAE 2g % 2 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
02 E324H| 632,864 624,346 8,518
O32323 £ HMAl 456,120
o&™IIZ 22,000,000&«12& 264,000
oat ot 15,000,000 * 12& 180,000
ocstlz 260,000& =123 3,120
CUSRUREHZ 9,000,000 » 14! 9,000
OAEEHIR XY 170,264
cALHSER WL SXIZ2(11I14)
10,000,000 14 10,000
cAYHFEZH HERX 2 (11HA)
2,400&x31,935m 76,644
oSDY HA&H L 2HE XL
1,600,000& = 12& 19,200
S RS
160, 000& *175&*30% 8,400
ob® SJ|I7 HUI(EAE LED)
85,000& *1,000S*10% 8,500
LB AUAE SXB2
220,000 33| x12& 7,920
SIINA BHABE SXB4
1,300,000 *4CH 5,200
o283 HA 4,500,000 »23| 9,000
odZE |2 S
8,500,000 14 8,500
o SEEHl FAl&2
600,0003 7 2 *23| 8,400
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